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*Responses in this set do not have true scores. Apply scores based on
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16. Small baskets of tomatoes are sold at a vegetable stand for $3 per basket. Large
baskets of tomatoes are sold at the stand for $5 per basket. Only whole numbers of
baskets may be purchased.

A customer purchases a total of 8 baskets of tomatoes and pays $36. 

A. Write and solve a system of equations that models the number of small
baskets (x) and the number of large baskets (y) that the customer purchases.
Show or explain all your work.

8x + � =10-6

Y t8x =$¾ 

Go to the next page to finish question 16. 
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16. Continued. Please refer to the previous page for task explanation.

Another customer claims that he can purchase a total of 10 baskets of tomatoes 
and pay$45. 

B. Use a system of equations that describes this other customer's purchase to
expbaln why the cialm Is Ulcor
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• Now turn to page 14 in your test booklet to answer questions 17
through 25.
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16. Small baskets of tomatoes are sold at a vegetable stand for $3 per basket.Large
baskets of tomatoes are sold at the stand for$� per basket. Only whole numbers of
baskets may be purchased.

A customer purchases a totaf of 8 baskets of tomatoes and pays $36. 

A. Write and solve a system of equations th.at models the number of small
baskets (x) and the number of large baskets (y) that the customer purchases ..
Show or explain all your work.

'.'.) 1' + 5 �== � (o 'i. * y ::: �
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Go to the next page to finish question 16. 
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16. Continued. Please refer to the previous page for task explanation.

Another customer claims that he can purchase a total of 10 baskets of tomatoes 
and pay $45. 

B. Use a system of equations that describes this other customer's purchase to
explain why the claim is incorrect.

1,'h¾ S�:: <...f� X -r � := \ o 
3 l. c;) +s Lt;) �c.t s-

� ;- i�� 'i �
� 

- 'l6 ½,'l S'

·-b � viu.m.be-r� �
c.o.... () I + b-e,. 

• Now turn to page 14 In your test booklet to answer questions 17
through 25.
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16. Small baskets of. tomatoes are sold at a vegetable stand for $3 per basket. �arge
baskets of tomatoes are sold at the stand for $5 per basket Only whole numbers of
baskets may be purchased.

A customer purchases a total of 8 baskets of tomatoes and pays $36, 

A. Write and solve a �ystem·of equations that models the number of small
baskets (x) and the number of large baskets (y) that the customer purchases ..
Show or explain all your work.

-,t,�· ·"K� '6\) 

Go to the next page to finish question 16. 
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16. Continued. Please refer to the previous page for t�sk explanation •.

Another customer claims that he can purchase a total of 10 baskets of tomatoes 
and pay$45 •. 

B. Use a system of equations that describes this other customer's purchase to
explain why tJle claim is incorrect.

De.� 
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• Now turn to page 14 In your test booklet to answer questions 17
through 25.
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16. Small baskets of tomatoes are sold at a vegetable stand for $3 per basket. Large.
baskets of tomatoes �re sold �t the stand for $5 per basket,. Only whole numbers of
baskets may be purchased.

A customer purchases a total of 8 baskets of tomatoes and pays $36 .. 

A. Write and solve a system.of eq!,lations that.models the number of small
baskets (x) and the number of large baskets (y) that the customer purchases.
Show or explain all your work!, 
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16. Continued. Piease refer to the previous page for task explanation.

Another customer claims that he can purchas� a total of 10 baskets of tomatoes 
and pay $45._ 
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16. Small baskets of tomatoes are sold at a vegetable stand for $3 per basket. Large
baskets of tomatoes are sold at the stand for $5 per basket. Only whole numbers of
baskets may be purchased.

A customer purchases a total of 8 baskets of tomatoes and pays $36. 

A. Write and solve a system of equations that models the number of small
baskets (x) and the number of large baskets (y) that the customer purchases.
Show or explain all your work.

� 
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Go to the next page to finish question 16. 
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16. Continued. Please refer to the previous page for task explanation.

Another customer claims that he can purchase a total of 10 baskets of tomatoes 
and pay $45. 

B. Use a system of equations that describes this other customer's purchase to
explain why the claim is incorrect.
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• Now turn to page 14 In your test booklet to answer questions 17
through 25.
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Small baskets of tomatoes are sold at a vegetable stand for $3 per basket. Large baskets of 
tomatoes are sold at the stand for $5 per basket. Only whole numbers of baskets may be purchased. 

P2-6

A customer purchases a total of 8 baskets of tomatoes and pays $36. 

A. Write and solve a system of equations that models the number of small baskets {x) and the
number of large baskets (y) that U1e customer purchases. Show or explain all your work.

15 / 1000 

Another customer claims that he can purchase a total of 1 O baskets of tomatoes and pay $45. 

B. Use a system of equations that describes this other customer's purchase to explain why the claim
is incorrect.

If this costumer is buying 10 baskets of tomatoes for $45 he is getting ripped off. if you buy 5 $3 
dollar baskets and 5 $5 dollar baskets the he should only be paying 40 for all 10. or t1is tt1e 
costumer would like he can get another large basket to make the balance to 45 dollars as he/she 
would like. 
302./ 1000 

       Keystone: Baskets of Tomatoes (Algebra 1); Practice Set 2



16. Small baskets of tomatoes are sold at a vegetable stand for $3 per basket. Large
baskets of tomatoes are sold at the stand for $5 per basket. Only whole numbers of
baskets may be purchased.

A customer purchases a total of 8 baskets of tomatoes and pays $36. 

A. Write and solve a system of equations that models the number of small
baskets (x) and the number of large baskets (y) that the customer purchases.
Show or explain all your work.
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16. Continued. Please refer to the previous page for task explanation.

Another customer claims that he can purchase a total of 10 baskets of tomatoes 
and pay $45. 

B. Use a system of equations that describes this other customers purchase to
explain why the claim is incorrect.

><17= {0 

3x-,bf =-45 
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Small baskets of tomatoes are sold at a vegetable stand for $3 per basket. Large baskets of 
tomatoes are sold at the stand for $5 per basket. Only whole numbers of baskets may be purchased. 

P2-8 

A customer purchases a total of 8 baskets of tomatoes and pays $36. 

A. Write and solve a system of equations that models the number of small baskets (x) and the
number of large baskets (y) that the customer purchases. Show or explain all your work.

�x+5y= $36 
+y=8

22./ 1000 

Another customer claims that he can purchase a total of 1 O baskets of tomatoes and pay $45. 

B. Use a system of equations that describes this other customer's purchase to explain why the claim
is incorrect.

23 / 1000 
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16. Small baskets of tomatoes are sold at a vegetable stand for $3 per basket. Large
baskets of tomatoes are sold at the stand for $5 per basket. Only whole numbers of
baskets may be purchased.

A customer purchases a total of 8 baskets of tomatoes and pays $36. 

A, Write and solve a system of equations that models the number of small 
baskets (x) and the number of large baskets (y) that the customer purchases. 
Show or explain all your work. 

x;-l.P � er 
- - � -CQ

lhe c.�� ��s l&><? s¼\]' 
�'t.e\'5 ot'G fu1 i aria taskels
4 ieiYrO.tt)eS, 

P2-9 
       Keystone: Baskets of Tomatoes (Algebra 1); Practice Set 2



16. Continued. Please refer to the previous page for task explanation.

Another customer claims that he can purchase a total of 10 baskets of tomatoes 
and pay$45. 

B. Use a system of equations that describes this other customer's purchase to
explain why the claim is incorrect.
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Small baskets of tomatoes are sold at a vegetable stand for $3 per basket. Large baskets of 
tomatoes are sold at the stand for $5 per basket. Only whole numbers of baskets may be purchased. 

P2-10 

A customer purchases a total of 8 baskets of tomatoes and pays $36. 

A. Write and solve a system of equations that models the number of small baskets {x) and the
number of large baskets (y) that the customer purchases. Show or explain all your work.

36=3x +5y 

36 = 3(2) + 5(6) 

36 =6+30 

36=36 

38{ 1000

Another customer claims that he can purchase a total of 1 O baskets of tomatoes and pay $45. 

B. Use a system of equations that describes this other customer's purchase to explain why the claim
is incorrect.

145 =3x+5y 
x+y=10 

15 / 1000 

       Keystone: Baskets of Tomatoes (Algebra 1); Practice Set 2



Subject: Algebra 1 

PRACTICE SET 2* 

Item: Baskets of Tomatoes Grade:HS 

Name _____________________________ _ 

Number Score Consensus Notes 

P2-1

P2-2

P2-3 

P2-4

P2-5

P2-6

P2-7

P2-8

P2-9

P2-10

* Responses in this set do not have true scores. Apply scores based on scoring criteria.
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